
 

        Google Logical Reasoning Questions and Answers with Explanation 
1. ​Thermometer: Temperature:: Barometer:? 
 
A. Stress 
B. Pressure 
C. Force 
D. Strain 
 
Answer –​ B. Pressure 
Explanation: 
The thermometer is used to measure to Temperature similarly Barometer is used to measure 
Pressure 
 
2. ​Judge: Court:: Doctor:? 
 
A. Tehsil 
B. Factory 
C. Municipality 
D. Hospital 
 
Answer –​ D. Hospital 
Explanation: 
The judge sits in court similarly doctor sits in the hospital 
 
3. ​Kitten: Cat:: Cub:? 
 
A. Tiger 
B. Dear 
C. Giraffe 
D. Horse 
 
Answer –​ A. Tiger 
Explanation: 
Kitten is the young one of Cat similarly Cub is the younger one of Tiger 
 
4. ​Choose the odd one 
 
A. Orissa 
B. Gujrat 
C. Madhya Pradesh 
D. Maharashtra 
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Answer –​ C. Madhya Pradesh 
Explanation: 
Except for Madhya Pradesh, all other states have the coastline 
 
 
5. ​Choose the odd one 
 
A. Giraffe 
B. Horse 
C. Lion 
D. Cheetah 
 
Answer –​ B. Horse 
Explanation: 
Except for horse, all are wild animals 
 
6. ​Statement:​ Wind is an inexhaustible source of energy. 
Assumptions: 
I. Wind is one of the many sources of energy. 
II. Wind is a source of energy which can be used forever. 
 
A. If only assumption II is implicit. 
B. If either I or II is implicit. 
C. If neither I nor II is implicit. 
D. If only assumption I is implicit. 
 
Answer –​ A. If only assumption II is implicit. 
Explanation: 
The assumption on I is not implicit becausthe e wind might be the only source of energy. 
Assumption II can be easily derived from the statement. “Inexhaustible” means incapable of 
being used entirely. 
 
7. ​Statement:​ A lie, which by its delivery blocks the emotional distress of the recipient, is 
justified. 
Assumptions: 
I. It is possible that one can alleviate another’s stress to be lying about the truth. 
II. One of the ways to always justify a lie is to view it as bringing relief to a disturbed person. 
 
A. If only assumption II is implicit. 
B. If either I or II is implicit. 
C. If neither I nor II is implicit. 
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D. If only assumption I is implicit. 
 
Answer –​ D. If the only assumption I is implicit. 
Explanation: 
A lie about a truth can ease another person’s stress under certain circumstances. But, that in 
no way gives a person the right to always tell a lie or look for an opportunity to lie, if it can be 
justified. Hence, the only assumption I is implicit. 
 
8. ​In a group of 6 students P, Q, R, S, T and U each one having different height. P is 
taller than T but not as tall as U. Q and U are not the tallest and also R is the shortest. 
Who is the tallest among them? 
 
A. S 
B. Q 
C. U 
D. P 
 
Answer –​ A. S 
Explanation: 
S > (Q,U) > P > T > R 
 
9. ​Pointing to a photograph, Sahil said, “She is the mother of my son’s wife’s 
daughter”. How is Sahil related to a lady? 
 
A. Father 
B. Father-in-law 
C. Son 
D. Uncle 
 
Answer -​ B. Father-in-law 
Explanation: 
My son’s wife’s daughter will be my granddaughter, and my granddaughter’s mother will be 
my daughter-in-law. So I m father-in-law of a lady. 
 
10. ​A woman walking with a boy meets another woman and on being asked about her 
relationship with the boy, she says, “My maternal uncle and his maternal uncle’s 
maternal uncle are brothers.” How is the boy related to the woman? 
 
A. Grandson 
B. Son or Nephew 
C. Nephew 
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D. Son 
 
Answer -​ B. Son or Nephew 
Explanation: 
This says that the woman’s mother has 2 brothers. And they are women’s maternal uncle. 
The boy can be son too and son of a woman’s brother too. 
 

                  ​https://www.freshersnow.com/placement-papers-download/ 

https://www.freshersnow.com/
https://www.freshersnow.com/placement-papers-download/

